Dreams

TABITHA DAYBED B/S

SINGLE BED ASSEMBLE INSTRUCTION
% 2 PEOPLE REQUIRED

Please take time to read these instructions and familiarise yourself with all the
components that make up your new bedstead.

Please retain this leaflet for future reference.

WARNING !

THIS PRODUCT CONTAINS SMALL
PARTS AND PACKAGING THAT
SHOULD BE KEPT AWAY AND OUT
OF REACH FROM ALL CHILDREN.

Top Tips before you start!

1. Please check that all parts are present before you start the
assembly of your furniture, as once assembled, the furniture
is exempt from our home approval policy.

2. For ease and speed of assembly, we recommend that
before you commence each step of the assembly, that you
identify all the parts required for that step.

3. For larger items, please ensure that you have sufficient
space andg)eople (as indicated on page to assemble you
product safely).

4. We recommend that, where possible, all items are
assembled near to the area in which they will be placed in
use, to avoid moving the product unnecessarily once
assembled.

5. For the protection of your furniture, particularly items of
high gloss finish, we recommend that the product is placed
on a protected surface during assembly to prevent any
damage.

6. During assembly please take care not to over-tighten any
fittings, as this may damage the product.

Care and Maintenance of your Furniture

* Please periodically check all fittings and re-tighten as
necessary.

. ITo clean your item, please use a damp cloth and wipe
clean.

* Please do not jump on your furniture.

* Never allow any kind of liquid to remain on your furniture.
Absorption can cause finishes to de-laminate.

» Periodically check the condition of your bed slats and
E|aStIC locating caps to ensure they are in good condition and
ave not become loose.

* This is very important when moving your bed. It is best to lift
the bed, and never to drag it.

* Please kindly take account of your floor covering when
assembling a new bed! If the floor offers little resistance
(such as wood or laminate) then it is recommended to use
rug or similar be placed under each leg.

Page 10f8




Components of Carton 1

(A) Sideboard (L) x 1 (B) Sideboard (R) x 1

=

Component of Carton 2

(C) Backboard x 1 (D) Trundle front panel x 1 (E) Trundle metal centre rail x 1

Hardware
Bag

(F) Trundle metal frame x 1

(G) Posture Slats x 30

Page 2 of 8




Hardware List (in Carton 1)

(H) M8 x 20mm

x 8 (Pre-Installed) @@

(Carton 1)
Hardware List (in Carton 2)

(I) M8 x 35mm (J) M4 x 35mm (K) Screw #8 x 32mm (L) HEXAGON Nut M4 x 12mm
x4 x12 x8 x12

{ DD
(Carton 2) (Carton 2) (Carton 2) (Carton 2)
(M) Flat Washer M4 x 12mm (N) Castor (O) Metal Plate (P) Flat Washer M8 x 18mm
x 12 X6 x2 S x4
(Carton 2) (Carton 2) (Carton 2) (Carton 2)
(Q) Screw Driver (R) Spanner M4
x1 x1 @
(Carton 2) (Carton 2)

Hardware List (in Carton 4)

(S) End Caps ™ ™
" /[

) VAR
(Carton 4)

Page 3 of 8




1- ATTACH BACKBOARD (C) TO SIDEBOARD L & R

CAREFULLY UNPACK ALL ITEMS FROM THE
CARTONS.

LOOSEN SIDEBOARD (L & R) ATTACHMENT '

BOLTS.
REMARK: BOLTS ONLY TO BE LOOSENED
AND NOT REMOVED.

HOOK THE BACKBOARD (C) TO THE
SIDEBOARD (L & R) AS SHOWN.

2- ATTACH TRUNDLE METAL CENTRE RAIL (E) TO SIDEBOARD (L & R)

TAKE OUT THE BOLTS FROM SIDEBOARD
(L &R).

ATTACH THE TRUNDLE METAL CENTRE
RAIL (E) & FIXWITH BOLT AS SHOWN.
TIGHTEN ALL FIXINGS TO ENSURE A
STABLE STRUCTURE.

Page 4 of 8




3- ATTACH END CAPS (S) TO POSTURE SLATS (G)

ATTACH THE END CAPS (S) TO BOTH END
OF POSTURE SLATS (G) AS SHOWN.

FIRMLY PUSH THE END CAP LUGS INTO
THE HOLES IN THE BACKBOARD (C) &
TRUNDLE METAL CENTRE RAIL (E).

Page 50f8




4- ATTACH CASTORS (N) TO TRUNDLE METAL FRAME (F)

ATTACH CASTORS (N) TO TRUNDLE METAL
FRAME (F) & FIX WITH THE HARDWARES
AS SHOWN.

BOTTOM
. , VIEW

Page 6 of 8




5- ATTACH TRUNDLE FRONT PANEL (D) TO TRUNDLE METAL FRAME (F)

ATTACH THE TRUNDLE FRONT PANEL (D)
TO TRUNDLE METAL FRAME (F). THIGHTEN
FRONT PANEL TO TRUNDLE METAL FRAME
WITH HARDWARE (P) & (I).

6- ATTACH POSTURE SLATS WITH END CAPS TO TRUNDLE METAL FRAME (F)

FIRMLY PUSH THE END CAP LUGS INTO
THE HOLES IN THE TRUNDLE METAL
FRAME (F).

Page 7 of 8




7- ATTACH METAL PLATE (O) TO BACK OF SIDEBOARD (L&R) & BACKBOARD (C)

ATTACH THE METAL PLATE (O) TO BACK
OF SIDEBOARD (L&R) & BACKBOARD (C).
FIX THE METAL PLATE (O) FOLLOW
DISTANCE SHOWN WITH SCREW (K).

3, N
g,

1D

/

TR

8 - FINAL TOUCH

PLEASE READ THE FOLLOWING INSTRUCTIONS.

ENJOY YOUR PRODUCT.

1. KEEP AWAY FROM DIRECT SUNLIGHT TO
AVOID DISCOLORATION.

2. DO NOT DRAG THE BED ACROSS THE
FLOOR WHEN POSITIONING OR MOVING
WHILST CLEANING.

3. TIGHTEN ALL SCREWS AT REGULAR
INTERVALS, TO AVOID DAMAGE TO THE
FRAME.

4. ENJOY YOUR PRODUCT.

MATTRESS SIZES:
TOP MATTRESS MAXIMUM DEPTH 8"(203mm)

LOWER MATTRESS MAXIMUM DEPTH 6"(152mm)

TOP AND LOWER BED MAXIMUM WEIGHT LOAD 95KG

Page 8 of 8




Care of your Dreams Furniture

Your new bed from Dreams is more than a beautiful piece of
furniture. It's an investment in your health and wellbeing. Care
for it well and you'll enjoy a great night's sleep for many years
to come.

Should you have any issues with your product please contact
our customer service team on 0344 262 0000

On Delivery

Once your new bed is in place and all the packaging is removed,
let it air for approximately 1 hour before putting on vour mattress,
mattress protector and bed linen.

Don't worry if your bed feels alittle strange at first. it takes time

for your body to adjustto a new level of support and comfort. You'll
soon be enjoying amore relaxed sleep.

Please consider the surface your bed will be steod on. If your bed
frame is to be stood on an uncarpeted surface please ensure that
you use rubber backed mat under the legs to avoid slipping.

Day to day Care

Check all bolts, screws and legs regularly to make sure they

haven't loosened and tighten alljoins of your furniture or bedstead
after 6 months. Please keep these instructions in a safe place for
further use.

Storage Drawers in Bedsteads are designed to carry lightweight

items such as Pillows, duvets and linen. Please try tc avoid storing
heavier items such as books or toys,

Returns

If you have bougnht a large item such as a bed or mattress which
is damaged or faulty and would like to return it, we will be able

to arrive at your home and take your item away. All we askis that
vour item is in perfect condition and in its criginal packaging (you
can open the packaging to inspect your itemy). ltems will not be
able to bereturned if they are not in their original packaging.
Foronline and telesales orders, you can only return an item within
7 days from the date of your delivery.

Thank you for purchasing from

Dreams

MMW‘L‘W . ﬂM_,,a

Dreams reserve the right to maodify products. dimensions, paris and fixings whithout notification.

www.dreams.co.uk

=]

Need assistance?
Call: 0344 292 0000



